FlexI PO E	Point Media 30X 1051 Albany, OH 43054	KBMY+ 301 8th St Fargo, ND	treet South 9 58103	Sche Adv Age Prod Bran Sale Sale Buye Phot CPE Accco Billin	edule Da ertiser ncy luct sperson s Office er Name ne/Fax	es	91341 04/17/24-04/2 Kelly Armstron FlexPoint Medi POLITICAL ND Political (1024) Jen, Gion (100 WDAY / 616/831/5214 National/Politic Standard 4.17-4.23.24 KBMY	ng for G ia (1976 ) Govern ) )6)	5) nor (	1053)	-			La Er Er Dr O Pr C C N	ate Ente ast Modi ntered B O-OP xternal : emo rder Typ ackage I ommissi ommissi ommissi et Total ales Tax	ified 3y # Deal ion % ion	04/16/24 04/16/24 Dennifer Gion No 13373837 Normal 15.00 \$433.50 \$2,456.50			Bismarck-M By Broadcast Apr. 2024 Grand Total:	-	3MY+) Spots 50 50	\$2,89	
Line	Line Type / Break Type	e (Ref #)	Dates	Sec	Length	Ri	ın Times	SPW	Мо	Tu \	Ne T	h Fi	r Sa	Su	Spots	Rate	Total			Station		Comme	nts	Entered
1.0	Normal Line / SPOT		04/17/24-04/19/24	1	:30	0 5A- 6A (CS	Τ)				1 1	1			3	\$10	.00	\$30.00	Bismarck-N	linot (KBMY+)			4	/16/24
2.0	Normal Line / SPOT		04/22/24-04/23/24	1	:30	0 5A- 6A (CS	T)		1	1					2	\$10	.00	\$20.00	Bismarck-N	1inot (KBMY+)				/16/24
3.0	Normal Line / SPOT		04/17/24-04/19/24	1	:30	0 6A- 7A (CS	T)				1 1	1			3	\$20	.00	\$60.00	Bismarck-N	1inot (KBMY+)			4	/16/24
4.0	Normal Line / SPOT		04/22/24-04/23/24	1	:30	0 6A- 7A (CS	Т)		1	1					2	\$20	.00	\$40.00	Bismarck-N	1inot (KBMY+)			4	/16/24
5.0	Normal Line / SPOT		04/17/24-04/19/24	1	:30	0 7A- 8A (CS	T)				1 1	1			3	\$40	.00	\$120.00	Bismarck-N	1inot (KBMY+)			4	/16/24
6.0	Normal Line / SPOT		04/22/24-04/23/24	1	:30	0 7A- 8A (CS	T)		1	1					2	\$40	.00	\$80.00	Bismarck-N	1inot (KBMY+)			4	/16/24
7.0	Normal Line / SPOT		04/17/24-04/19/24	1	:30	0 8A- 9A (CS	T)				1 1	1			3	\$40	.00	\$120.00	Bismarck-N	1inot (KBMY+)			4	/16/24
8.0	Normal Line / SPOT		04/22/24-04/23/24	1	:30	0 8A- 9A (CS	Т)		1	1					2	\$40	.00	\$80.00	Bismarck-N	1inot (KBMY+)			4	/16/24
9.0	Normal Line / SPOT		04/17/24-04/19/24	1	:30	0 9A- 10A (C	ST)				1 1	1			3	\$40	.00	\$120.00	Bismarck-N	linot (KBMY+)			4	/16/24
10.0	Normal Line / SPOT		04/22/24-04/23/24	1	:30	0 9A- 10A (C	ST)		1	1					2	\$40	.00	\$80.00	Bismarck-N	1inot (KBMY+)			4	/16/24
11.0	Normal Line / SPOT		04/18/24-04/18/24	1	:30	0 4P- 5P (CS	Г)				1				1	\$40	.00	\$40.00	Bismarck-N	1inot (KBMY+)			4	/16/24
12.0	Normal Line / SPOT		04/22/24-04/22/24	1	:30	0 4P- 5P (CS	Г)		1						1	\$40	.00	\$40.00	Bismarck-N	1inot (KBMY+)				/16/24
13.0	Normal Line / SPOT		04/17/24-04/19/24	1	:30	0 5P- 5:30P (	CST)				1	1			2	\$40	.00	\$80.00	Bismarck-N	1inot (KBMY+)			4	/16/24
Accepted	-Agency/Advertiser:				Date:		Accepted-S		MA	711	NC	С	ON	ſR	AC	Date:	Comm	ents:						

Forum Communications does not discriminate in advertising contracts on the basis of race, ethnicity or gender.



FlexPoint Media PO BOX 1051 New Albany, OH 43054

	Contrac Schedule Date
KBMY+	Advertiser
301 8th Street South	Agency
Fargo, ND 58103	Product
	Brand
	Salesperson
	Sales Office
	Buyer Name
	Phone/Fax
	CPE
	Account Type

Billing Type Comments

Contract #	<b>91341</b> 04/17/24-04/23/24	Date Entered Last Modified	04/16/24
dvertiser	Kelly Armstrong for Governor (9886)	Entered By	04/16/24 Jennifer Gion
gency	FlexPoint Media (1976)	CO-OP	No
oduct	POLITICAL ND Governor (1053)	External #	13373837
rand	Political (1024)	Demo	
alesperson	Jen, Gion (1006)	Order Type	Normal
ales Office	WDAY	Package Deal	
ıyer Name		Commission %	15.00
none/Fax	/	Commission	\$433.50
PE	616/831/5214	Net Total	\$2,456.50
count Types	National/Political - Candidate	Sales Tax	
lling Type	Standard		
omments	4.17-4.23.24 KBMY		

Bismarck-Minot (KBMY+)												
By Broadcast Month	<u>Spots</u>	<u>Rate</u>										
Apr. 2024	50	\$2,890.00										
Grand Total:	50	\$2,890.00										
		+_,										

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered		
14.0	Normal Line / SPOT	04/23/24-04/23/24	1	:30	5P- 5:30P (CST)			1						1	\$40.00	\$40.00	Bismarck-Minot (KBMY+)		4/16/24		
15.0	Normal Line / SPOT	04/17/24-04/19/24	1	:30	6P- 6:30P (CST)				1	1	1			3	\$50.00	\$150.00	Bismarck-Minot (KBMY+)		4/16/24		
16.0	Normal Line / SPOT	04/22/24-04/23/24	1	:30	6P- 6:30P (CST)		1	1						2	\$50.00	\$100.00	Bismarck-Minot (KBMY+)		4/16/24		
17.0	Normal Line / SPOT	04/17/24-04/19/24	1	:30	6:30P- 7P (CST)				1	1	1			3	\$100.00	\$300.00	Bismarck-Minot (KBMY+)		4/16/24		
18.0	Normal Line / SPOT	04/22/24-04/23/24	1	:30	6:30P- 7P (CST)		1	1						2	\$100.00	\$200.00	Bismarck-Minot (KBMY+)		4/16/24		
19.0	Normal Line / SPOT	04/17/24-04/19/24	1	:30	10P- 10:35P (CST)				1	1	1			3	\$70.00	\$210.00	Bismarck-Minot (KBMY+)		4/16/24		
20.0	Normal Line / SPOT	04/22/24-04/23/24	1	:30	10P- 10:35P (CST)		1	1						2	\$70.00	\$140.00	Bismarck-Minot (KBMY+)		4/16/24		
21.0	Normal Line / SPOT	04/23/24-04/23/24	1	:30	9P- 10P (CST)			1						1	\$350.00	\$350.00	Bismarck-Minot (KBMY+)	Good Doctor	4/16/24		
22.0	Normal Line / SPOT	04/19/24-04/19/24	1	:30	9P- 10P (CST)						1			1	\$300.00	\$300.00	Bismarck-Minot (KBMY+)	20/20	4/16/24		
23.0	Normal Line / SPOT	04/20/24-04/20/24	1	:30	10P- 10:35P (CST)							1		1	\$50.00	\$50.00	Bismarck-Minot (KBMY+)		4/16/24		
24.0	Normal Line / SPOT	04/21/24-04/21/24	1	:30	5:30P- 6P (CST)								1	1	\$60.00	\$60.00	Bismarck-Minot (KBMY+)		4/16/24		
25.0	Normal Line / SPOT	04/21/24-04/21/24	1	:30	10P- 10:35P (CST)								1	1	\$80.00	\$80.00	Bismarck-Minot (KBMY+)		4/16/24		
	CONFIRMATION CONTRACT																				
Accented	-Agency/Advertiser:		Date:			Accepted-Station:									Date:	Comments:	Comments:				
					Accepted.	, auon.										00111101101					

Forum Communications does not discriminate in advertising contracts on the basis of race, ethnicity or gender.

					CON	FIR	MATION CONTR	RAC	Т				
Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:													

Forum Communications does not discriminate in advertising contracts on the basis of race, ethnicity or gender.

Terms &	Conditions							
	1							i i